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945 1 E3] 400m F 7-3+3 915 1 k24 200m F 5-3+1 915 1 k=4 100m % 6-2+4
1010 2 E3] 400m F 7-3+3 935 2 k=4 200m F 4-3+4 935 2 k=4 100m F 5-3+1
1035 1 ko4 400m F 3-2+2 950 1 E3) 200m ¥ 9-2+6 955 1 % 100m % 10-2+4
1045 2 ko4 400m F 3-2+2| 1020 2 E3) 200m F 9-2+6] 1025 2 % 100m % 10-2+4
1065 1 E3] 1600m F 3-4+4] 1055 1 k=4 400mH ¥ 2-3+2] 1100 1 % 800m ¥  3-2+2
1120 2 E3] 16500m F 2-6+4] 1105 2 k=4 400mH F 2-3+2] 11115 2 % 800m #  2-3+2
1140 1 ko4 100mH ¥ 2-3+2] 1115 A1 E3) 400mH ¥ 3-2+2] 1125 1 k=4 100m #  2-3+2
1185 2 ko4 100mH ¥ 2-3+2] 1125 2 E3) 400mH F  4-1+4] 1135 2 k=4 100m #  2-3+2
1210 1 E3] 110mH ¥ 3-2+2] 1145 A k=4 200m # 2-3+2] 1145 1 % 100m %  3-2+2
1225 2 E3] 110mH ¥ 3-2+2] 1155 2 k=4 200m # 2-3+2] 1155 2 % 100m %  3-2+2
1240 A £ 400m #¥ 3-2+2| 1205 1 E3) 200m #  3-2+2] 1240 1 k=4 800m R
1250 2 £ 400m #¥ 3-2+2| 12115 2 ts 200m # 3-2+2] 1250 2 k=4 800m R
18300 1-2 %B-& 5000mW R 1225 1 k=4 800m ¥ 4-1+4] 1300 1 % 800m R
13560 1 k4 100mH R 1245 2 k24 800m F 4-1+4] 1310 2 % 800m R
1365 2 k4 100mH R 13:05 g 4X100mR 3R 1320 1 k=4 100m 3R
1405 1 E3] 110mH R 13110 B 4X100mR 3R 1325 2 k=4 100m R
1415 2 E3] 110mH R 1315 1 C3) 800m ¥ T7-3+3] 1330 1 % 100m 3R
1425 A1 k4 400m R 13860 2 C3) 800m F 6-2+4] 1335 2 % 100m 3R
1430 2 k4 400m R 1425 1 k=4 400mH 3R 1345 1 k=4 3000m R
1435 1 E3] 400m R 1430 2 k=4 400mH 3R 1400 2 k=4 3000m R
1440 2 E3] 400m R 1440 A1 B 400mH 3R 1415 1 B 5000m R
1445 A1 k=4 1500m R 1445 2 B 400mH 3R 1440 2 % 5000m R
1455 2 k4 1500m R 1455 1 k=4 200m 3R 15:05 L 4X400mR R
1505 1 £ 1500m R 18600 2 k=4 200m 3R 16115 B 4X400mR R
1615 2 £ 1500m R 1605 1 C3) 200m 3R
1525 Z 4X100mR F 4-1+4] 1510 2 C3) 200m R
1545 E 4X100mR F 5-0+8| 1520 A1 g 3000mSC %

16540 2 g 3000mSC %

16.05 Z 4X400mR  F  3-1+5

1625 £ 4X400mR F 4-1+4
1000 1 E24 ENREE R 1000 1 k24 EBP R 1000 1 k=4 =ERBE R nwoewr
1100 1-2 5 el R 1000 1 E3) EEsk R ABEwH 1000 A L3 =R R
11:00 1-2 E24 el R
1100 1 5 ES R
1300 2 E24 ENREE R 1200 2 E24 EaB R 1230 2 k4 =ERBE R rwoewr
1400 2 5 ES R 1400 2 E3) EfEsk R ABEwH 1230 2 L3 =R R
1000 1-2 5 Ny~v—ig R 945 A k24 DO’ R 1000 1-2 k24 NIe—1& R
1000 1-2 E24 gtz R 1116 2 k24 DO’ R 1030 1 L3 fag R

1200 2 L3 fag R

1230 1 5 VO R 1300 1 E3) mPRE R 1200 1-2 k24 mPE’ R
1430 2 5 VO R 1430 2 E3) mPEE R
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